Skládání sil
7. třída

KONTROLNÍ PRÁCE


Narýsuj výslednici různoběžných sil, a urči jejich velikost
Cvičení I.                                              

a)F1 = 3 N,   F2 = 4 N,   

               = 90°     

b)F1 = 3 N,   F2 = 4 N,   F3 = 3 N,  

               = 60°    =90°       

c)F1 = 3 N,   F2 = 5 N,   F3 = 5 N,  F4 = 3 N,  

               = 30°     =120°      =30°       

d)F1 = 2 N,   F2 = 3 N,   F3 = 5 N,  F4 = 3 N,  F5 = 2 N

               = 30°      =60°       =60°       =30° 

Cvičení II.                                              

a)F1 = 3 N,   F2 = 5 N,   

               = 120°     

b)F1 = 3 N,   F2 = 4 N,   F3 = 3 N,  

               = 90°    =60°       

c)F1 = 3 N,   F2 = 4 N,   F3 = 4 N,  F4 = 3 N,  

               = 30°     =120°      =30°       

d)F1 = 2 N,   F2 = 4 N,   F3 = 3 N,  F4 = 4 N,  F5 = 2 N

               = 60°      =30°       =30°       =60° 

Cvičení III.                                              

a)F1 = 3 N,   F2 = 4 N,   

               = 60°     

b)F1 = 2 N,   F2 = 5 N,   F3 = 3 N,  

               = 60°    =120°       

c)F1 = 2 N,   F2 = 5 N,   F3 = 5 N,  F4 = 2 N,  

               = 45°     =90°      =45°       

d)F1 = 2 N,   F2 = 3 N,   F3 = 4 N,  F4 = 3 N,  F5 = 2 N

               = 45°      =45°       =45°       =45° 
